QID: 201 -
n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

RaferieT v & r 7w Reedt # & ww R
(?) & TUT UT HE arell FEA F JE0|

1 3 2| 3 4 |11
2 | 36 4 | 81 6 | ?
Options:
1) 121
2) 100
3)89
4) 113

Correct Answer: 121
Candidate Answer: 121

QID : 202-
How many triangles are there in the given figure?

& T Pl # fencr gt &2

Options:
1)5

2)7
3)8

4)9
Correct Answer: 7
Candidate Answer: 7



QID: 203 -
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letler from these matrices can
be represented first by its row and next by its column, for example, ‘D" can
be represented by 02, 79, etc., and ‘2’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “MAKE”.

T g dhael U TEA-GAE Gl otar s §, sk R faweut & @
sl wop & o wran ¥ fwedl & Bu orv dwmrwep wawl & o) ael
g gefw Ire €, S B Ru arw o smeggd & ¥ e & Toew ik
afes &1 TEAT 0 T 4 § IR AN F 5 T 9| 3T HegRl ¥ Uh HaR
B UEe IWr U IR A I TIEN dwAr gy gRifEr S wwar #
30T & foT D i 02, 79 INTE ERT &I o |ebal & T 2" a7 00,
77, 3G a7 o o Fanar B SET R @ UM uH & RU U=
“MAKE” & o ToF o ugaraar &1

Matrix-1 Matrix-ll
IR IRl
011234 56789

0l]Z|C|D|G|M S|FIRJO[T|W
1|G|A|N|H|V 6| KIM|J|[C|S
2I|U[O[Y[K]|T f{LIP1Z|Y|D
3IDIG|M|L|R B|F|E|J|A[N
4|A|E|U|C|K glulwlQ|Vv|X

Options:

1) 04, 11, 23, 86
2) 11, 40, 45, 23
3) 43, 88,12, 41
4) 66, 55, 67, 34

Correct Answer: 04, 11, 23, 86
Candidate Answer: 04, 11, 23, 86

QID: 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% A APl A § S 39X AEHS B gaw
S & vy smpfa BT 2




Options:
1)

2)

Correct Answer:

Candidate Answer:

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

BT W 3A AHS U PG & TawT Bl Ol
TLOTT?

=\

~J —._
[e
N




Options:
1)

3)

\@)

4)

N\

Correct Answer:

Candidate Answer:

QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg Tk 00T AT AB T W @M AW, a1 & TS
IO AGAT A T did W AEa TS MG 6
g ufafasa gefre

Ak B

i he 55 ents & s T P 5 bt o M i i ';.r‘m



Options:

1)

X /4
2)

X /1
3)
YaVa.
4)

v\ A
Correct Answer:
YaVA.
Candidate Answer:
YA/ 4
QID: 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d=r & oo smElad # REm 3gar #eer @
ASHL el TUT Wielel o dlc, 98 [hH 39X ATpia
s s g

D he. s st S T Foiea 3 bt o) ,1‘5:9”1;"}:';.‘;?]’7_7'&:?



Options:
1)

000

O
je]
[0}

2)

)
000
o
00,

o

3)

o0

00
00

00

Correct Answer:

00
Q [0}

00

Candidate Answer:

00
Q [o)
(o] [»)
00

QID : 208 - By interchanging which two signs the equation will be correct?
4+9+-18%x11-6=7
1351 <1 oG 1 3T & TRER Jaa IR GHISR0T gl gl Sie?

4+9+18x11-6=7
Options:

1) x and +

X Yl +

2) +and x

+ YT %

3) +and -

+ Ayl -

4)-and +

=l +

Correct Answer: + and x
+ dYT x

Candidate Answer: [ NOT ANSWERED ]

QID:209-If4#3@1=13and5# 2@ 2 = 12, then
6@1#4=2
C4#3@1=13TU5#2@2=12%,

6@1#4=7
Options:

1) 11

2) 10

3)12

4)8

Correct Answer: 10
Candidate Answer: 10




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Modest
2. Monkey
3. Modern
4. Modular
5. Monger

FofaRd Wl &1 YegHI # o a1d HH F SER |

1. Modest
2. Monkey
3. Modern
4. Modular
5. Monger

Options:
1) 34125
2) 31425
3) 34152

4) 31452
Correct Answer: 31452
Candidate Answer: 31452

QID : 211 - In the following question, select the missing number from the given series.
3,3,6,18,72,?
Frafatea wy § fou T fogedt O @ g i I1d Dol

3,3,6,18,72,?
Options:
1) 320

2) 360
3) 480

4) 540
Correct Answer: 360
Candidate Answer: 360

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
EI HI KI NI QI ?
TP 3HY feam man B, s 9 v ue g §1 o e faw e § § 9% OEl fawen giY, S SimH &l R |

EI I.ll KI NI QI ?
Options:
1)V

2)T
3)U

4)S
Correct Answer: T
Candidate Answer: T

QID : 213 - In the following question, select the odd word from the given alternatives.

FrafRed uy # faT T faswed! & 9 fawm wss & gl
Options:
1) Bus
CRl
2) Car
PR
3) Truck
<P
4) Aeroplane
B
Correct Answer: Aeroplane
(L SERE
Candidate Answer: Aeroplane
L EERE]

QID : 214 - In the following question, select the odd number pair from the given alternatives.

Froferad uy A o e e § 3 ey |



Options:
1)6-12

2)7-14
3)3-5

4)4-8
Correct Answer: 3 -5
Candidate Answer: 3 -5

QID : 215 - In the following question, select the odd letters from the given alternatives.

FafeRad wy § fdu Tq fawedl § 9 fawy sieri o1 gHg|
Options:
1) FE

2) NM

3)DC

4) QR

Correct Answer: QR

Candidate Answer: QR

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Milk, Liquid, Pen

T8 3G AT 1 TR U U anif & o ey o1 Te) g B g

GG AC S
Options:
1)

2)

3)

©

-
O

Correct Answer:

©)0

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Summer : Hot : : Winter : ?

Fafafed oy H iy T e § 9 Jefia wres 1 gful

rrepTet : 7T ; : ST : ? e s T T AT b e T et o Vo Ve



Options:
1) Cold
CEl

2) Ice

3) Cotton
DU
4) Jacket
e

Correct Answer: Cold
LE

Candidate Answer: Cold
G

QID : 218 - In the following question, select the related number from the given alternatives.
12:145::16:?

Frafafea gy # i T fowedt & & Jefia dem &1 gl

12:145::16:?

Options:
1) 255

2) 257
3) 349

4) 423
Correct Answer: 257
Candidate Answer: 257

QID : 219 - In the following question, select the related letters from the given alternatives.
MARKET : TEKRAM : : SATURN : ?

Frafatea uy § fou T fogedt O & Jefta sieri &1 gFu|

MARKET : TEKRAM : : SATURN : ?

Options:

1) NRUTAS

2) NRTUAS

3) NRUATS

4) NURTAS
Correct Answer: NRUTAS
Candidate Answer: NRUTAS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
POSSIBILITIES
Fafafed fawedl # § 98 Xsg 9T o faU U Xeg & (&R B TN X g1 SR S Fhal|

POSSIBILITIES
Options:
1) POSTER

2) BOSS
3) BILE

4) SOIL
Correct Answer: POSTER
Candidate Answer: POSTER

QID : 221 - From directional perspective, If North is called West, North-West is called South-West and South-West is called South-East, then what will be North-East
called as?

o= % SR W, Al IR B Ul HeT Sl 8, SIR-URAT $ féor-ufdm e S § 9 for-ufim $1 <for-ud g1 o 8, 3 SwR-Ud B R HeT S
Options:
1) West

2) South-East
algur-gd

3) North

JWR

4) North-West
IWR-uEgH

e s T T AT b e T et o Vo Ve |



Correct Answer: North-West
IWR-uiEH

Candidate Answer: North-West
Iw-uiym

QID : 222 - Pointing to a lady, Vikas said "She is the daughter of the wife of my father". How is the lady related to Vikas?

TP AR 3T 3R Yhd B g, AP 3 Fg1, "ag W Ut B Tell 31 1 82" a8 uieen, oo F fra voR Tefea 22
Options:

1) Aunt

ESd

2) Sister

CRE

3) Daughter

4) Wife
Telt

Correct Answer: Sister
CREI

Candidate Answer: Sister
CREl

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All short are fat.
I1. Some short are fair.

Conclusions:
1. Some fair are fat.
II. Some fat are fair.

:ﬂ%mﬂqwﬁ@a?wah?mmwmﬂm&nmwﬁﬁﬁﬁqm% BIAifd I8 AR Fd q2) ¥ e 81 wwdl g1 gt e ug oiik fi feffva
%3 o feu U B9 9 frep, 31 T Ul F enuR W gieawid 8l

DY
LR AR gl
IL $ BIE TR &1

nﬁ HeE

L. 99 |

II. $& Hic IR S

Options:

1) Only conclusion (I) follows.

Faa ey (1) T B

2) Only conclusion (II) follows.

Faa e (11) T B

3) Both conclusion follow.

g & e widl 8

4) Neither conclusion (I) nor conclusion (II) follows.
T freed (1) 7 € e (1) W R
Correct Answer: Both conclusion follow.
gl & e et §

Candidate Answer: Both conclusion follow.

AT & e welt €1

QID : 224 - In a certain code language, "TIMBER" is written as "UKPFJIX". How is "TRAIL" written in that code language?
U fafs Fs yr &, "TIMBER" %) "UKPFIX" foraT SITdl 81 59 $1s YTl & "TRAIL" &I fodl TR feram Stmaem?

Options:

1) VIMEF

2) UTDMQ

3) QTUMD

4) FMUQT
Correct Answer: UTDMQ
Candidate Answer: UTDMQ

QID : 225 - In a certain code language, "TIN" is written as "47" and "TAX" is written as "49". How is "TOPS" written in that code language?

e AR HIs W F, "TIN® P "47" TUT "TAX" &) "49" foral ST 31 39 HIs U9 § "TOPS” & {9 YR ferar smewm?

e s T T AT b e T et o Vo Ve |



Options:
1) 72

2) 69
3)73

4) 74
Correct Answer: 74
Candidate Answer: 74

QID : 226 - If A = 45 x 73 and B = 72 x 45, then what is the value of A x B?

GEA=45x73TUB=72x 458, A A x BT HH T &?
Options:

1) 411 x 75

2) 410 x 718

3) 430 x 76

4)47 x 7°

Correct Answer: 411 x 75

Candidate Answer: 41! x 7°

QID : 227 - What is the value of 21 + 24 + 27 ...... + 51?

21 424 + 27 ...... + 51 BT HHE T 8?7
Options:
1) 324

2) 396
3) 416

4) 288
Correct Answer: 396
Candidate Answer: 396

QID : 228 - A number M is divisible by 25. If (M + 5)(M + 1) is divided by 25, then what will be the remainder?

e T M, 25 9 4TS 81 afe (M + 5)(M + 1) B 25 ¥ fauifSra e wiman 8, @ Quwa @r gem?
Options:

1)5

2)6

3)1

43

Correct Answer: 5

Candidate Answer: 5

QID : 229 - Which of the following statement(s) is/are true?

1. (7)450 > (9)300
II. (2)°00 > (7)450

Fofafea o & $F 9/ U 99 8/8?

1. (7)450 > (9)300

II. (2)900 > (7)450
Options:

1) Only I

EL

2) Only II

&ad 11

3) BothIand II

19T 11 &

4) Neither I nor II
FAITGI

Correct Answer: Only I
P 1

Candidate Answer: [ NOT ANSWERED ]

QID : 230 - What is the value of (4.6 + 3.1)2 — (4.6 — 3.1)2?

(4.6 + 3.1)2 — (4.6 — 3.1)2 &1 TH T 8?
Options:

1) 54.68

2) 58.86

3) 53.32

4) 57.04

Correct Answer: 57.04




Candidate Answer: 57.04

QID : 231 - Which of the following number is an odd and prime number?

AR 7 & S 9 I8 T fAuH a7 S1uTsT 98T 97
Options:

1)61

2)87

3)81

4) 69

Correct Answer: 61

Candidate Answer: 61

QID : 232 - M alone can do a work in 50 days. M is 10% less efficient than N. In how many days can N alone do the same work?

M U% T B 3 50 3 & QR FRaAT 81 M, N ¥ 10% $H SRGT §1 N 3idval 39 1 S e fomt & qRr e
Options:

1) 60

2) 45

3) 40

4) 43

Correct Answer: 45

Candidate Answer: 45

QID : 233 - Three taps R, S and T can fill a tank in 90, 100 and 180 minutes respectively. If all the taps are opened together, then in how many minutes will the
tank be filled?

A AR, S AU T TH THY B HAW: 90, 100, TUT 180 T H 1R Tdha &1 3 Wt 7 &1 v Wit Wit o 9, o eapt favaey e o sdfie
Options:

1) 120

2)37.5

3) 45

4) 90

Correct Answer: 37.5

Candidate Answer: 37.5

QID : 234 - What is the area (in cm2) of the rhombus having side as 20 cm and one of the diagonal as 24 cm?

TF JHagys ot Yo 20 9.1, § qu v fawof 24 3.1, B, o1 et (R..2 H) | g
Options:
1) 768

2) 384
3) 480

4) 240
Correct Answer: 384
Candidate Answer: 240

QID : 235 - A shopkeeper offers 35% discount on shirts which have been marked 60% above the cost price. Ajay bought the shirt for Rs 728. What was the cost
price (in Rs) of the shirt?

Th GHHGR 9 Jod F 60% A Sifdrd Ted arel HHISH W 35% B G a1 51 30 3 728 T & iy Tilel| 39 BT & 5 g (T ) T AR
0

2) 700

3) 480

4) 680
Correct Answer: 700
Candidate Answer: 700

QID : 236 - The cost price of an article is 90% of the marked price. What is the gain percentage after allowing a discount of 1% on the marked price?

it avg &1 4 Yo Su® Sifard Ted B190% g1 3ifhd I | 1% $T Ge &1 & uyTd T W= o1 62
Options:
1) 12.5

2) 20
3) 10

4)8.33
Correct Answer: 10
Candidate Answer: 10

e s T T AT b e T et o Vo Ve |



QID : 237 - In what ratio a man must mix pulses at Rs 11.10 per kg with Rs 15.20 per kg pulse so as to make a mixture worth Rs 13.20 per kg?

T fert b U # 11.10 ¥ U 6,701, Ireft &1et &7 15.20 % Wl 16701, arefl <rat & e e anfeb fvsior &6 siad 13.20 % Ui 6,971, 81 wme
Options:
1)4:3

2)16:27
3)4:7
4)20:21

Correct Answer: 20 : 21
Candidate Answer: 20 : 21

QID : 238 - Rs 1050 is divided among M, N and P in the ratio 3 : 5 : 7 respectively. What is the difference (in Rs) between the shares of M and N?

1050 T HI M, N qUTP H AR 3 : 5 : 7 P 3urd & sfer a1 g1 M auT N & e # o ofek (3 ) 82
Options:
1) 140

2) 210
3) 155

4) 315
Correct Answer: 140
Candidate Answer: 140

QID : 239 - Average of 12 numbers is 15. If a number 41 is also included, then what will be the average of these 13 numbers?

12 el &7 3N 15 §1 I U T 41 b ot iy & forn SR, o 397 13 SRemait o SNgd o g
Options:
1) 16

2)18
3)19

4)17
Correct Answer: 17
Candidate Answer: 17

QID : 240 - By selling 96 litres of milk, a person's gain is equals to the cost price of 24 litres of milk. What is his gain percent?

96 eR g STIR TS G i 24 TR g & 0 T & qUaR a1y giaT 81 ITST A e o1 82
Options:

1) 30

2) 18.18

3)25

4) 16.67

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 241 - A man sold 280 chairs and had a gain equal to selling price of 35 chairs. What is his profit percentage?

TF Al 280 FRIT B SR 35 SR & [Iha T & IR T FHAC ¢ | IHT A Tla=rd 71 82
Options:
1)20

2) 14.28
3) 15

4) 16.67
Correct Answer: 14.28
Candidate Answer: 14.28

QID : 242 - A man saves 64% of his income in 8 months. If he wants to save the same amount in 4 months, then by how much percentage should he increase his
monthly savings?

U iR 8 HEH T 30t 3T BT 64% ST 31 I 98 IaT & AR 4 T & w2 g ©, o I (o Jifde sr=a fbasy wfawia € sgrl snlRw
Options:
1) 80

2)75
3) 100

4)95
Correct Answer: 100

e s T T AT b e T et o Vo Ve |



Candidate Answer: [ NOT ANSWERED ]

QID : 243 - A man spends 65% of his income and saves the rest. If his income increases by 25% and spending increases by 20%, then what is the percentage
change in his savings?

%aan%ram:ﬁ T BT 65% T B &dll § a1 J1D! S 31 A SBT3 25% & Fgall © adT @ 2 20% I 7§ 91 &, < I@! F9d & foban wiowra afvad gan
?

Options:

1) 31.67% increase
31.67% ¥ I

2) 34.28% increase
34.28% @1

3) 41.66% decrease
41.66% B HHI

4) 29.87% decrease
29.87% BT HH

Correct Answer: 34.28% increase
34.28% @I 3G

Candidate Answer: [ NOT ANSWERED ]

QID : 244 - A train running with a speed of 18 km/hr, crosses an electric pole. If the length of train is 540 metre, then what is the time taken (in seconds) by the
train to cross the pole?

?ﬁlﬁ%?.ﬁ./ﬁﬂﬁﬁﬁ@%ﬁﬁﬁﬁW,@M?@ﬁﬁmm%l T YIS Bt TS 540 Hiex 8, 1 YS! TR B UR e H a1 99 ([pus|
) ?

Options:

1) 110

2) 100

3) 108

4) 105

Correct Answer: 108
Candidate Answer: 108

QID : 245 - A 100 metre long train crosses a 800 metre long bridge. If the speed of train 30 km/hr, then what is the time taken (in seconds) to cross the bridge?

& 100 MR T XTSI, T 800 Hier T Ud &I UR FXdl | afe Yearma! &1 1 30 i1 /8er B, & 4 uR A § o 90 ([pust H) e g2
Options:

1) 105

2) 108

3) 118

4)120

Correct Answer: 108
Candidate Answer: 108

QID : 246 - What is the sum (in Rs) of money which will become Rs 201840 at the rate of 16% per annum at compound interest in two years?

Tg SRR (3 ) 1 € S & antf & 16% $i i <191 & § Tehdfes S W 201840 & g SMUHT?
Options:
1) 160000

2) 150000
3) 180000

4) 200000
Correct Answer: 150000
Candidate Answer: [ NOT ANSWERED ]




QID: 247 -
The table given below shows the number of mobile
covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

@y & T arfererr F 9§ 2011 / 2015 & 2 FHUtAAr
VAPT gr ABC 1T 8% 3 AEEd Hadl I &IT
(F=TRT #H) =T g2 T gl

Year | a& Company / 9=t
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

Companies VAPT and ABC show the same difference in the number of mobile covers sold for which of the following years?

HUfat VAPT T ABC GRT 99 T MR HaRl &1 61 o1 3R fFafafaa § & f ast & aum o
Options:

1) 2012 and 2013

2012 41 2013

2) 2011 and 2012

2011 TT 2012

3) 2012 and 2014

2012 47 2014

4) None of these

T Q1S To
Correct Answer: 2011 and 2012
2011 Y1 2012

Candidate Answer: 2011 and 2012
2011 9412012

QID: 248 -
The table given below shows the number of mobile

covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

#Frr & 9 arfereRr & 99 2011 & 2015 d 2 &Ofaar
VAPT g ABC T S=f T ANEET FHIU $Hr T&AT
(FIT #) @i T/ ¢

| - Company / &9siT
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the percentage change in the number of mobile covers sold by company VAPT from year 2011 to year 2013?
Ty 2011 ¥ T 2013 TF HU VAPT ERT o1 T HE3d Bl &1 el H Ui uRads & 32

Options:

1) 68

2) 84

3)78

Ay s D he. s st S T Foiea 3 bt o) ,1‘5119'”157.!};';.‘;'517_7}}:?



Correct Answer: 68
Candidate Answer: 68

QID: 249 -
The table given below shows the number of mobile
covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

e & € arferer & 3§ 2011 ¥ 2015 9% 2 &9fear
VAPT ger ABC RT 3 9 AIEST Hadl $r T&AT
(= ) Fr T T

Year | a§ Company / F9=iT
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the average number (in thousands) of mobile covers sold by company VAPT over the 5 given years?

HUT VAPT §RT AT 71T 5 auif & 891 T Hiaigd Harl &1 Siad ST (§oTRI H) &7 82
Options:

1) 80

2)81.8

3) 84

4) 92
Correct Answer: 81.8
Candidate Answer: 81.8

QID : 250 -

The table given below shows the number of mobile
covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

#=r & T2 AR # 99 2011 @ 2015 T 2 Hutar
VAPT e ABC T 8= 91 AIEST FHadl ST TEam
(F=TRT #) Fr AT T FI

Year | wh Company / F9=1Y
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the percentage change in the number of mobile covers sold by company ABC from year 2012 to year 2015?

af 2012 § 9 2015 TP HU ABC GRT 99 70 HiaZd Hai &) G& § ufaerd uRad= o1 82

i he 55 ents & s T P 5 bt o M i i ';.r‘m



Options:
1) 36

2) 66
3) 60

4) 90
Correct Answer: 60
Candidate Answer: 60

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The traffic police department has put up huge notice boards at all the (1)/ major junctions of the city warning drivers for refrain from using (2)/ cell phones while
driving or else their licences will be impounded. (3)/ No error (4)

Options:

11

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Contrary to popular perception, the inclusion segment is not a singular impoverished (1)/ undifferentiated mass and it is important to navigate its diversity (2)/ this
identify the right target customers for various programs. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Have you
Options:
1) find

2) found
3) finds
4) finded
Correct Answer: found

Candidate Answer: found

your pen?

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Mr. Yukimura should be as the chairman.
Options:

1) appointed

2) smiled

3) coughed

4) smirked

Correct Answer: appointed
Candidate Answer: smirked

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Prompt

Options:

1) Immediate

2) Late

3) Tardy

4) Slow

Correct Answer: Immediate

Candidate Answer: Immediate

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Quake

Options:

1) Tremble

2) still

3) Order

4) Tranquil e s T T AT b e T et o Vo Ve |




Correct Answer: Tremble
Candidate Answer: Tremble

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rip
Options:
1) Tear
2) Closure
3) Sew

4) Value

Correct Answer: Tear
Candidate Answer: Value

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Dwell
Options:
1) Abide
2) Bunk

3) Hole up
4) Move on

Correct Answer: Move on
Candidate Answer: Move on

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Encroach

Options:

1) Keep away

2) Barge in

3) Crash

4) Horn in

Correct Answer: Keep away
Candidate Answer: Keep away

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Endow

Options:

1) Deprive

2) Award

3) Back

4) Bestow

Correct Answer: Deprive

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Second to none

Options:

1) As good as or better than all others

2) Creating warm all around

3) To keep a secret of other

4) Most reliable person

Correct Answer: As good as or better than all others

Candidate Answer: As good as or better than all others

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep a low profile

Options:

1) To avoid attracting attention to yourself

2) Observe a threshold

3) Take the help of

4) Being very miser

Correct Answer: To avoid attracting attention to yourself
Candidate Answer: To avoid attracting attention to yourself

QID : 263 - Improve the bracketed part of the sentence.

All over the world, it is a niche programme and not a mass programme, where (each off) can get into it.

Options:

1) everybody

2) each one

3) all me

4) No improvement

Correct Answer: everybody
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QID : 264 - Improve the bracketed part of the sentence.

There has been a substantial drop in number of the people (opted) for new telephone connection from the public sector telephone company in the recent months.
Options:

1) optioning

2) opting

3) opt

4) No improvement

Correct Answer: opting

Candidate Answer: No improvement

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Time when night and day are of equal length.
Options:

1) Equinox

2) Equivocal

3) Equate

4) Equidistant

Correct Answer: Equinox

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Fertile spot in desert.
Options:

1) Oasis

2) Tributary

3) Well

4) Peninsula

Correct Answer: Qasis
Candidate Answer: [ NOT ANSWERED ]

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Circate

2) Circuit

3) Sircuit

4) Circiut

Correct Answer: Circuit

Candidate Answer: Circuit

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Concurence

2) Concurreeme

3) Concurrence

4) Concureence

Correct Answer: Concurrence
Candidate Answer: Concurrence

QID : 269 - Rearrange the parts of the sentence in correct order.

Cleanliness is a greatest

P: responsibility to enhance the standard of life
Q: virtue which should be followed
R: by everyone as a great
Options:

1) QRP

2) RPQ

3) PQR

4) PRQ

Correct Answer: QRP
Candidate Answer: QRP

QID : 270 - Rearrange the parts of the sentence in correct order.

National integration is of

P: the individual level development in this
Q: country and make it a strong country
R: great importance in India to enhance
Options:

1) QRP

2) RPQ

3) PQR

4) PRQ

Correct Answer: RPQ
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QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

also having a impact
Options:

1) indifferent

2) positive

3) neutral

4) negative

Correct Answer: negative
Candidate Answer: indifferent

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

It has

Options:

1) affected

2) resulted

3) incorporated

4) decorated

Correct Answer: resulted

Candidate Answer: affected

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

in the of glaciers
Options:

1) freezing

2) heating

3) melting

4) creating

Correct Answer: melting
Candidate Answer: melting

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

patterns that in are leading
Options:

1) turn

2) advance

3) rational

4) cult

Correct Answer: turn

Candidate Answer: turn

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

that are contributing this change.
Options:

1) above

2)on

3) of

4) towards

Correct Answer: towards

Candidate Answer: of
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QID : 276 - Which one of the following is not considered as fixed capital?

i § S1F 91 1 'RR dolt' & % & 78 1 o 82
Options:

1) Tools

IR (SMSR)

2) Machines

EERiE

3) Money
Hal

4) Building
AR
Correct Answer: Money

kY

Candidate Answer: Money

el

QID : 277 - 'Disguised unemployment' is prominently found in

BT RRY TG T o urr o §
Options:

1) urban areas

el &

2) semi-urban areas

ardf-edl &

3) rural areas

4) No option is correct
PIS Abed et T g1
Correct Answer: rural areas

Irtor 8
Candidate Answer: [ NOT ANSWERED ]

QID : 278 - Who among the following was the first Chief Election Commissioner of India?

HRA % Ugd T I Sad i & 4 3 42
Options:

1) K.V.K. Sundaram

.83, Gazw

2) Sukumar Sen

FPUR &

3) Dr. Nagendra Singh

4) T. Swaminathan

2L, WA

Correct Answer: Sukumar Sen
YHAR I

Candidate Answer: Sukumar Sen

FHHR I
QID : 279 - Who of the following administers oath of the office and secrecy to the President of India?

YR o U BT Ie SR Toaar @9 gy Pefiied 3 3 3 R 82
Options:

1) Vice President

34U

2) Prime Minister

e

3) Chief Justice of the Supreme Court

IATH AT & T <R

4) Lok Sabha Speaker

AIGIHT Sfeel

Correct Answer: Chief Justice of the Supreme Court
IqH AT & G A

Candidate Answer: Chief Justice of the Supreme Court
JEdH AR & g8 A

QID : 280 - Which one of the following places of Indus Valley Civilization was situated on the bank of Ravi River?
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Options:

1) Lothal

Ay

2) Mohenjodaro

3) Chanhudaro

4) Ha}appa

Bl

Correct Answer: Harappa

Tl

Candidate Answer: [ NOT ANSWERED ]

QID : 281 - Tipu Sultan was defeated by the British forces in the Anglo-Mysore war.

Y g &1 e A STA-TR g5 H uRIfora o Tl
Options:

1) First

peidea

2) Second

T
3) Third
d

4) Fifth
LIECI
Correct Answer: Third

Candidate Answer: Third
R

QID : 282 - Which one of the following landscapes is not formed by the running water or river?

95 8 & o1 91 Us yE=d 98 o a1 e & Pt ad i g
Options:

1) V-shaped Valley

dl-S{TPR HI =St

2) Meander

foad

3) Pothole
el

4) Moraine
Correct Answer: Moraine

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - Which of these is the major source of fresh water in India?

HRA F d oIl BT UHE Fd S A1 82
Options:
1) Ground water

2) Ocean water
S6)

3) Tanks

%

4) Water falls

SIS 9T

Correct Answer: Ground water

i

Candidate Answer: [ NOT ANSWERED ]

QID : 284 - From which part of the organ does the digestion of food in the human body start?

AT IRR F o H1 areH ol § 9 6 o 3 I §iar g2
Options:
1) Mouth

Ee)
2) Stomach
SHRY
3) Small Intestine
3
4) Large Intestine
ESIREI]
Correct Answer: Mouth

qg
Candidate Answer: [ NOT ANSWERED ]




QID : 285 - Which one of the following has the capability of cell division in plants?

Frafifea & o1 a1 v Tl & SR RS B & e 82
Options:
1) Parenchyma

2) Scelerenchyma

3) Xylem

NIERL]

4) Apical Meristem
fqureis

Correct Answer: Apical Meristem
=i fauee

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - Which one of the following is a true fish?

u & 3 o1 91 o Jrafas At 82
Options:

1) Jellyfish

SR

2) Starfish

WRIG

3) Dogfish

S

4) Silverfish

Rcarfter

C9rrect Answer: Dogfish

Candidate Answer: [ NOT ANSWERED ]

QID : 287 - When a car starts suddenly from rest, the people sitting inside the car move backwards. This event is an example of:

TS PIs PR (R ¥ SEMS 99 USA 3, I 96 TR D F1 NG FP 9 3. Ig gl BT IR 3.
Options:

1) Newton's First Law of Motion

qed & U i & g

2) Newton's Second Law of Motion

e & T &1 gt Fan

3) Newton's Third Law of Motion

e & Tfd &1 drawt fAaa

4) No option is correct

IS faped wdt T 31

Correct Answer: Newton's First Law of Motion

e & Uy T DT Fam

Candidate Answer: Newton's Second Law of Motion

e & T &1 gast FgH

QID : 288 - Which of the following wave types is an example of the waves produced by a moving motorboat on the surface of water?

Fafifed & S a1 a9 90 & T R TH TToRiid Hierdle gRT I TR H1 UF SGERU 82
Options:

1) Longitudinal only

Faa syl

2) Transverse waves only

Sad Sl agl

3) Electrbmagne_ti; Waves

4) Both Longitudinal and Transversal
SR SR e At
Correct Answer: Bqth Longitudinal and Transversal

srgeed SR ot <l
Candidate Answer: [ NOT ANSWERED ]

QID : 289 - Which of the following keys is used in computer to change the lower case letter mode to uppercase?

faffea & fog SR Holt gRI B 31er) Bl o3 24aR & Tea ST 82
Options:

1) Alt

i

2) Ctrl

3)ACaps Lock
§iE2

4) Enter

ey

Correct Answer: Caps Lock
§IcY
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Candidate Answer: Caps Lock
Eankicy

QID : 290 - Who discovered Proton, one of the fundamental particle of an atom?

TRA % TH Hfdd S, W, 1 @i T 31 off?
Options:

1) Chadwick

EISIEED

2) 1.J. Thomson
[EACAEEReE

3) Rutherford
TBIS

4) Newton

Correct Answer: Rutherford

Candidate Answer: ].J. Thomson
SIS, AT

QID : 291 - During summer, water kept in an earthen pot becomes cool because of the phenomenon of

ey Bg & fied & 8 o v ur P UfHaT (YeT) F BRI SST 8 Ol €.
Options:

1) Osmosis

ORI

2) Evaporation

Hq

3) Diffusion

famRur

4) Transpiration

Correct Answer: Evaporation
Hq

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Which one of the following is not a human made environment?

o # o9 o1t g At gafaor 7 82
Options:
1) swimming pool

kS

2) zoo
3) lake

4) garden
o

Correct Answer: lake

Candidate Answer: lake

QID : 293 - In which of the following years was the Pradhan Mantri Gram Sadak Yojana (PMGSY) launched?

Fraffea 8 § fra oy vum = 7 See dior (dursiegars) I @1 TS o0
Options:

1) 1988

2) 2000

3) 2002

4) 2004

Correct Answer: 2000
Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following scientist discovered the Law of Floatation?

Fofarea smfe! § § fam Samaq & Aol &t @ o
Options:
1) Newton

Sl

22 Thomas Edison
Yag

3) Archimedes

4) John Dalton
I sleed
Correct Answer: Archimedes




Candidate Answer: Archimedes

QID : 295 - Who is the first Indian woman gymnast to qualify for the Olympics?

i & T STelihTs U HX arelt Tge R Aiga foHARe $H 82
Options:
1) Karnam Malleswari
Huig Aot
2) P.T. Usha
.ét. 3w
3) Dipa Karmakar
PHDB

4) Gita Fogat
Titd BRTIe

Correct Answer: Dipa Karmakar
a1 HHER

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which of the following folk-dance forms is related to Odisha?

Fafaied & § FH-a1 die-Ta NS vt 82
Options:

1) Chhau

BH

2) Tamasha

qH=T

3) Mallakhamb

HAGH

4) No option is correct.
IS faded Tt T &1
Correct Answer: Chhau
|

Candidate Answer: No option is correct.

P e et T R

QID : 297 - Which of the following is the second highest gallantry award in India?

Fofifed § 4 9 91 16 YR § dRd1 &1 g1 Jdid R 82
Options:

1) Veer Chakra

4R aP

2) Mahvir Chakra

HETAR <hsh

3) Ashok Chakra

XM AP

4) Shaurya Chakra

=i G

Correct Answer: Mahvir Chakra

TRTdR Th

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who has written the book "Harry Potter and the Cursed Child"?
T iR TS € F¥s IIses” S Yad e fordt 82

Options:

1) Patrick Suskind

tiew wrEs

2) Anne Frank

o b

3) K Rc_)wling
S AT
4) Elena Ferrante

Correct Answer: JK Rowling

EEARIN

Candidate Answer: JK Rowling

e T

QID : 299 - Which of the following countries is committed to strengthen bilateral relations with India in the field of Agriculture recently in Jan 2017?

TFaRT 2017 B FEfaRea # ¥ PO S AT @ 8 o & &89 o yRa & 91y §ualia Yee & doey o1 & T ufiegar Sard 57
Options:
1) France
g

2) Russia
=g

3) Israel
QURIR
4) UK
Ty




Correct Answer: Israel

JORTRA

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Which of the following countries does not share the land boundary with Myanmar?
e 3T 7 9 P 91 U & /AR F 9 Y AT A15h 761 $I 82

Options:
1) Bangladesh
CIREICR)

2) India
URd

3) Cambodia
Harsar

4) Laos
GIEN

(_:orrect Answer: Cambodia

C.andidate Answer: Bangladesh



